
��������� 8<$3�3257$/�%ø/*ø�6ø67(0ø

KWWSV���YDWDQGDV�X\DS�JRY�WU�PDLQ�MVS�YLHZHU�MVS"PLPH7\SH 8GI	HYUDN,G ����������	GRV\D,G ���������	\DUJL7XUX � ���

(YUDN�*|U�QW�OHPH �8GI�8]DQWÕOÕ�(YUDNÕ�øQGඈUŖ

7�&�
$1.$5$�

&80+85ø<(7�%$ù6$9&,/,ö,
7(5g5�68d/$5,�6258ù7850$�%h5268

6RUXúWXUPD�1R� �������������
.DUDU�1R� ������������

$<,50$�.$5$5,

'$9$&,���.�+�
ùh3+(/ø������$'$�*h9(1��*5$026�.Õ]Õ� )ø//25(7$
GHQ� ROPD�� ����������� GR÷XPOX�� 6$0681

൴O൴��%$)5$�൴OoHV൴��.$538=/8�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���$/ø�d$.,5�� 0(+0(7� 2÷OX� $'ø.(
GHQ� ROPD�� ����������� GR÷XPOX�� .h7$+<$� ൴O൴�

'20$1ød�൴OoHV൴��6$5,27�N|\�PDKDOOHV൴�����F൴OW�����D൴OH� VÕUD�QR�����VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø������$/ø�*h/(=��0867$)$�2÷OX�'h5'$1(
GHQ�ROPD�������������GR÷XPOX��$17$/<$�൴O൴�

.25.87(/ø�൴OoHV൴��d8.85&$�N|\�PDKDOOHV൴�����F൴OW����D൴OH� VÕUD�QR����
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ��� $/ø� 21$7�� +$/ø/� 2÷OX� g05h<(
GHQ� ROPD�� ����������� GR÷XPOX�� ø=0ø5� ൴O൴�

%25129$�൴OoHV൴��,ù,./$5�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR����VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ��� $/ø� 260$1� 723$/�� ø60$ø/� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

.$5$0$1�൴O൴��.$=,0.$5$%(.ø5� ൴OoHV൴��2%$� N|\�PDKDOOHV൴�� �� F൴OW�
��� D൴OH� VÕUD� QR�� ���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ��� $/0$� .,<$1�� 0<)ø7� .Õ]Õ� ;+$)(5ø(
GHQ� ROPD�� ����������� GR÷XPOX�� 25'8� ൴O൴�

0(68'ø<(�൴OoHV൴��<(ùø/&(�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR�����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7,5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���$6,0� '(0ø5g=�� $+0(7� 2÷OX� (0ø1(
GHQ� ROPD�� ����������� GR÷XPOX�� $<',1� ൴O൴�

.8<8&$.� ൴OoHV൴��.$<5$1�.g<h�N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD
QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�.DUD\൴÷൴W�6N��+�(G൴S�$GÕYDU�0DK��1R���øo

ø



��������� 8<$3�3257$/�%ø/*ø�6ø67(0ø

KWWSV���YDWDQGDV�X\DS�JRY�WU�PDLQ�MVS�YLHZHU�MVS"PLPH7\SH 8GI	HYUDN,G ����������	GRV\D,G ���������	\DUJL7XUX � ���

.DSÕ�1R��ù൴úO൴��ø67$1%8/�൴NDPHW�HGHU�
68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø������$<+$1�7(.ø1(ù��+$..,�2÷OX�ù(1185
GHQ�ROPD�������������GR÷XPOX��%$57,1�൴O൴�

.858&$ùø/(�൴OoHV൴��g0(5/(5�N|\�PDKDOOHV൴�����F൴OW����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ��� $<ù(� 72.�� 6$/ø+� .Õ]Õ� 08$//$
GHQ� ROPD�� ����������� GR÷XPOX�� .$<6(5ø� ൴O൴�

3,1$5%$ù,� ൴OoHV൴�� 7$ù/,*(dø7� N|\�PDKDOOHV൴�� ���� F൴OW�� �� D൴OH� VÕUD� QR�
����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$��$51$987/8.�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������%ø/$/�.2&$*g=��$+0(7�2÷OX�+(61$
GHQ�ROPD�������������GR÷XPOX��.h7$+<$

൴O൴��7$9ù$1/,�൴OoHV൴��8/8&$0ø�N|\�PDKDOOHV൴����F൴OW������D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� '85(6� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� %ø52/� ø1$/7(.ø1�� 6h/(<0$1� 2÷OX� )ø/ø=
GHQ� ROPD�� ����������� GR÷XPOX�

7(.ø5'$ö�൴O൴��0$/.$5$�൴OoHV൴��&$0ø$7ø.� N|\�PDKDOOHV൴�� �� F൴OW�� ��
D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� d(7ø1� <857�� +ø/0ø� 2÷OX� $)(7
GHQ� ROPD�� ����������� GR÷XPOX�� %$57,1� ൴O൴�

0(5.(=�൴OoHV൴��+2&$2ö/8�N|\�PDKDOOHV൴������F൴OW�����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������(%58�g1'(5��.(0$/�.Õ]Õ�h5.ø<(
GHQ� ROPD�� ����������� GR÷XPOX��$0$6<$� ൴O൴�

7$ù29$� ൴OoHV൴�� %$//,&$� N|\�PDKDOOHV൴�� �� F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������(56ø1�*g.d(.��0867$)$�2÷OX�+$7ø&(
GHQ�ROPD�������������GR÷XPOX��d$1.,5,

൴O൴��$7.$5$&$/$5� ൴OoHV൴�� d$5'$.�N|\�PDKDOOHV൴�� �� F൴OW�� ��� D൴OH� VÕUD
QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7,5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� )$7ø+� 8)8.� %$ö&,�� 0867$)$� 2÷OX� $5ø)(
GHQ� ROPD�� ����������� GR÷XPOX�

<2=*$7�൴O൴��<(5.g<�൴OoHV൴��$ù$ö,(ö(5&ø�N|\�PDKDOOHV൴�����F൴OW����
D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������)(5+$7�<,/',=��0$+087�ù(9.(7�2÷OX�0(5<(0
GHQ�ROPD�������������GR÷XPOX�

6$.$5<$�൴O൴��.$5$3h5d(.�൴OoHV൴��0(68'ø<(�N|\�PDKDOOHV൴�����F൴OW�
��� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� &XPKXU൴\HW�0DK�� ����� 6N�
1R����øo�.DSÕ�1R��$N\D]Õ��6$.$5<$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� *g.+$1� .$6$3�� 785+$1� 2÷OX� 1(6/ø+$1
GHQ� ROPD�� ����������� GR÷XPOX�

ø67$1%8/�൴O൴��6$5,<(5�൴OoHV൴��<(1ø0$+$//(�N|\�PDKDOOHV൴�����F൴OW�
��D൴OH�VÕUD�QR����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�=HEHUFHW���$UDOÕN�6N��0HUNH]�0DK�
1 �� ø . 1 �6 � ø67$1%8/ ൴N W G



��������� 8<$3�3257$/�%ø/*ø�6ø67(0ø

KWWSV���YDWDQGDV�X\DS�JRY�WU�PDLQ�MVS�YLHZHU�MVS"PLPH7\SH 8GI	HYUDN,G ����������	GRV\D,G ���������	\DUJL7XUX � ���

1R����øo�.DSÕ�1R��6DUÕ\HU��ø67$1%8/�൴NDPHW�HGHU�
68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������*h1*g5�785$1��+h61h�2÷OX�+$0ø<(
GHQ�ROPD�������������GR÷XPOX��75$%=21

൴O൴��0$d.$�൴OoHV൴��.,5$1.$ù�0$+��N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD
QR���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ�8]XQ\RO� 6RNDN�1R� �����&XPKXU൴\HW�0DK�
*HQFHUO൴�0HYN൴൴<HQ൴�)RoD)RoD��ø=0ø5�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� +$.$1� <2=*$7/,�� 0867$)$� 2÷OX� *h/(5
GHQ� ROPD�� ����������� GR÷XPOX�

<2=*$7� ൴O൴�� 0(5.(=� ൴OoHV൴�� $ù$ö,12+87/8� N|\�PDKDOOHV൴�� �� F൴OW�
���� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������+$/ø/�*g.��0(+0(7�2÷OX�)ø5'(96
GHQ�ROPD�������������GR÷XPOX��0$1ø6$� ൴O൴�

$/$ù(+ø5�൴OoHV൴��.$9$./,'(5(�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�
���VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� +$/ø7� (6(1'ø5�� 0867$)$� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

ø67$1%8/�൴O൴��%(<.2=�൴OoHV൴��d$98ù%$ù,�N|\�PDKDOOHV൴�����F൴OW������
D൴OH�VÕUD�QR����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������+$0=$�72.��6(/$0ø�2÷OX�0(5&$1
GHQ�ROPD�������������GR÷XPOX��.$<6(5ø�൴O൴�

3,1$5%$ù,�൴OoHV൴��7$ù/,*(dø7�N|\�PDKDOOHV൴������F൴OW����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� ø/+$1�6$5,.$<$��9(/ø�2÷OX� ù$=ø<(
GHQ� ROPD�� ����������� GR÷XPOX�� 6ø9$6� ൴O൴�

<,/',=(/ø� ൴OoHV൴��0(17(ù(� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� ø/<$6� .$5$*g=�� 5$0$=$1� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

.$+5$0$10$5$ù� ൴O൴�� 21ø.øù8%$7� ൴OoHV൴�� d$.,5'(5(
N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$
�$51$987/8.�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� ø5)$1�<,/0$=��(ù5()�2÷OX�.(=%$1
GHQ� ROPD�� ����������� GR÷XPOX�� ø=0ø5� ൴O൴�

.$5ù,<$.$�൴OoHV൴��$/$<%(<�N|\�PDKDOOHV൴����F൴OW������D൴OH� VÕUD�QR���
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� ø6$� (5%$ù�� 6$/ø+� 2÷OX� 6$)ø1$=
GHQ� ROPD�� ����������� GR÷XPOX�� 25'8� ൴O൴�

.$%$'h=� ൴OoHV൴�� <2.8ù'ø%ø� %(/�� <(ùø/<857� N|\�PDKDOOHV൴�� ��
F൴OW�����D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$��$51$987/8.
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������ø60$ø/�7$5$.d,��6h/(<0$1�2÷OX�1(6ø%(
GHQ�ROPD�������������GR÷XPOX��ø=0ø5

൴O൴�� %(5*$0$� ൴OoHV൴�� ø3/ø.dø<8186� N|\�PDKDOOHV൴�� ��� F൴OW�� ���� D൴OH
VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� *D]൴RVPDQSDúD� 0DK�� 3൴U൴UH൴V� 6N�
1R���%HUJDPD��ø=0ø5�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
ø ø



��������� 8<$3�3257$/�%ø/*ø�6ø67(0ø

KWWSV���YDWDQGDV�X\DS�JRY�WU�PDLQ�MVS�YLHZHU�MVS"PLPH7\SH 8GI	HYUDN,G ����������	GRV\D,G ���������	\DUJL7XUX � ���

68d�7$5ø+ø�� ������
ùh3+(/ø�������.$=,0�3(.0(=&ø��.$6,0�2÷OX�(/9ø'$
GHQ�ROPD�������������GR÷XPOX��6ø123�൴O൴�

(5)(/(.�൴OoHV൴��<(1ød$0�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�����VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� $GD� 0DK�� ùHK൴W� *�QJ|U� <DYX]� 6N�� 1R��� øo� .DSÕ
1R���6൴QRS�0HUNH]��6ø123�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� .h%5$� )(77$+2ö/8�� 6$ø7� .Õ]Õ� 6$1ø<(
GHQ� ROPD�� ����������� GR÷XPOX�

%$<%857� ൴O൴��0(5.(=� ൴OoHV൴�� <$=<85'8� N|\�PDKDOOHV൴�� ���� F൴OW�� �
D൴OH�VÕUD�QR����� VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1��$51$987/8.� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0$+087�$/ø�6(<'ø��+$6$1�2÷OX�$<6(/
GHQ� ROPD�� ����������� GR÷XPOX��25'8

൴O൴��.$%$'h=�൴OoHV൴��.ø5$='(5(�N|\�PDKDOOHV൴�����F൴OW����D൴OH�VÕUD�QR�
���VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$��$51$987/8.�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0(+0(7�$6/$1��$/ø�2÷OX�1$=ø)(
GHQ�ROPD�������������GR÷XPOX��$',<$0$1�൴O൴�

.$+7$� ൴OoHV൴�� d,5$/,.� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� .$9$-(� �$51$987/8.� &80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0(+0(7�.$5$7(.(��+$/ø7�2÷OX�6$1ø<(
GHQ�ROPD�������������GR÷XPOX��(/$=,ö

൴O൴��6ø95ø&(�൴OoHV൴��*g5*h/h�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 0(+0(7� 2.7$5�� &(0$/� 2÷OX� 0h=(<<(1
GHQ� ROPD�� ����������� GR÷XPOX�

$',<$0$1�൴O൴��*(5*(5�൴OoHV൴��*h5*(1/ø� N|\�PDKDOOHV൴�� ��� F൴OW�� ��
D൴OH� VÕUD� QR�� ���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7,5$1$� �$51$987/8.
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 0(7ø1� $%$.$<�� )(9=8//$+� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

*$=ø$17(3�൴O൴��ù(+ø7.$0ø/� ൴OoHV൴��*g=7(3(�N|\�PDKDOOHV൴�����F൴OW�
���D൴OH�VÕUD�QR����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ��$51$987/8.�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0(7ø1�$/7$ù��7$+6ø1�2÷OX�1ø0(7
GHQ�ROPD�������������GR÷XPOX��(5=8580�൴O൴�

<$.87ø<(�൴OoHV൴��h1ø9(56ø7(�N|\�PDKDOOHV൴�����F൴OW������D൴OH� VÕUD�QR�
��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 0HYODQD�0DK�� ������� 6N�� 1R������ øo� .DSÕ
1R���%RUQRYD��ø=0ø5�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0(7ø1�2185�.$5$��260$1�2÷OX�$<ù(
GHQ�ROPD�������������GR÷XPOX��+$7$<�൴O൴�

'g57<2/�൴OoHV൴��18081(�N|\�PDKDOOHV൴����F൴OW�����D൴OH�VÕUD�QR�����VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ����085$7�%h<h.%8/87��$/$ø77ø1�2÷OX�=(.ø<(
GHQ� ROPD�� ����������� GR÷XPOX�

.$+5$0$10$5$ù� ൴O൴�� 21ø.øù8%$7� ൴OoHV൴�� $.d$.2<81/8
N|\�PDKDOOHV൴����F൴OW������D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$
�$51$987/8.�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
h ø ø
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ùh3+(/ø��� ����085$7�.,<$1�� &(/$/� 2÷OX� %ø11$=
GHQ� ROPD�� ����������� GR÷XPOX�� 25'8� ൴O൴�
0(68'ø<(� ൴OoHV൴��<(ùø/&(�N|\�PDKDOOHV൴�����F൴OW������ D൴OH� VÕUD� QR�� ��
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7,5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 0867$)$� $6/$1�� =(<1(/� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

1(9ù(+ø5� ൴O൴��h5*h3� ൴OoHV൴��'(0ø57$ù�N|\�PDKDOOHV൴����� F൴OW�� �� D൴OH
VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0867$)$�(5*ø1��260$1�2÷OX�+$7ø&(
GHQ�ROPD�������������GR÷XPOX��d2580�൴O൴�

0(5.(=�൴OoHV൴��*g&(129$&,*,�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�
��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������0867$)$�*h9(1��$+0(7�2÷OX�=g+5(
GHQ�ROPD�������������GR÷XPOX��6$0681

൴O൴��%$)5$�൴OoHV൴��.$538=/8�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 0867$)$� h67h1(5�� 1ø+$7� 2÷OX� *h/7(5
GHQ� ROPD�� ����������� GR÷XPOX�

ø67$1%8/�൴O൴��ùø/(�൴OoHV൴��$ö9$�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�
��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7,5$1$� �$51$987/8.�&80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 1$-$'$� .,/,d�� ,68)� .Õ]Õ� +ø/%(57$
GHQ� ROPD�� ����������� GR÷XPOX�

.$+5$0$10$5$ù�൴O൴��21ø.øù8%$7�൴OoHV൴��723d$/,�N|\�PDKDOOHV൴�
���� F൴OW�� ��� D൴OH� VÕUD� QR�� ���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� .$/.$1'(/(1
�0$.('21<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������1$=,0�&ø11ø��$+0(7�785$1�2÷OX�'g1(
GHQ�ROPD�GR÷XPOX��6ø9$6�൴O൴��0(5.(=

൴OoHV൴��d(5dø'(5(6ø�N|\�PDKDOOHV൴�����F൴OW���� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD
Q�IXVD�ND\ÕWOÕ�.DUúÕ\DND�0DK�����6RN�1R����6൴YDV�0HUNH]��6ø9$6�൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������1(&0(77ø1�%8'$.��ø.5$0�2÷OX�død(.
GHQ�ROPD�������������GR÷XPOX��$ö5,�൴O൴�

0(5.(=�൴OoHV൴��d$7$/ø3$ù$�N|\�PDKDOOHV൴������F൴OW�����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� *�OWHSH� 0DK�� *HO൴QF൴N� 6N�� 1R���� øo� .DSÕ
1R���0HO൴NJD]൴��.$<6(5ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 1(9=$7� $<9$&,�� '85681� 6$%ø7� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

$17$/<$�൴O൴��$.6(.ø�൴OoHV൴��*h=(/68�N|\�PDKDOOHV൴�����F൴OW������D൴OH
VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�dD÷OD\DQ�0DK�������6N��1R���øo�.DSÕ
1R���0XUDWSDúD��$17$/<$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������1ø/h)(5�d$/,ù.$1��<868)�.Õ]Õ�(/ø)
GHQ�ROPD�������������GR÷XPOX��0(56ø1�൴O൴�

6ø/ø).(� ൴OoHV൴�� ø0$0/,� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d 7$5ø+ø � ����
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68d�7$5ø+ø�� ������
ùh3+(/ø�������18+�72.d(/ø.��085$7�2÷OX�$/ø<(
GHQ� ROPD�� ����������� GR÷XPOX��$'$1$� ൴O൴�

&(<+$1�൴OoHV൴��.$5$.$<$/,�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������g0(5�d$/,ù��ø%5$+ø0�2÷OX�+$7ø&(
GHQ�ROPD�������������GR÷XPOX�� ,63$57$� ൴O൴�

8/8%25/8�൴OoHV൴��.$=$1&,�N|\�PDKDOOHV൴�����F൴OW�����D൴OH� VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 6$%5ø� 7236$.$/�� 0867$)$� 2÷OX� ù(1(/
GHQ� ROPD�� ����������� GR÷XPOX�

*$=ø$17(3� ൴O൴�� ù$+ø1%(<� ൴OoHV൴�� .85%8�.2=$1/,� N|\�PDKDOOHV൴�
��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� '855(6
�$51$987/8.�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������6$0ø�ø.ø=��260$1�2÷OX�(0ø1(
GHQ�ROPD�GR÷XPOX��0(56ø1�൴O൴��<(1øù(+ø5�൴OoHV൴�

(0ø5/(5� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD
ND\ÕWOÕ�.DYDFÕN�0DK��1R���'���.DYDFÕN�%H\NR]��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������6(/ø0�*8/(d��$91ø�2÷OX�0(/$+$7
GHQ�ROPD�������������GR÷XPOX��6$0681�൴O൴�

d$5ù$0%$�൴OoHV൴��.8ù+$1(�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� ����� 6N�� 0൴PDU� 6൴QDQ� 0DK�� 1R���� øo� .DSÕ
1R��*HE]H��.2&$(/ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 6(/0$1� )(77$+2ö/8�� g0(5� 2÷OX� *h/6h1
GHQ� ROPD�� ����������� GR÷XPOX�

%$<%857� ൴O൴��0(5.(=� ൴OoHV൴�� <$=<85'8� N|\�PDKDOOHV൴�� ���� F൴OW�� �
D൴OH�VÕUD�QR����� VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1��$51$987/8.� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������6(/0$1�.8=8��$%'8//$+�2÷OX�+$9$
GHQ�ROPD������������� GR÷XPOX��<$/29$

൴O൴��dø)7/ø..g<�൴OoHV൴��*$&,.�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR���
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�0XVWDID�.HPDO�3DúD�0DK������6N��1R����øo�.DSÕ
1R��<DORYD�0HUNH]��<$/29$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������6(=(5�(5'2ö$1��$.ø)�2÷OX�h1=h/(
GHQ�ROPD�������������GR÷XPOX�� ø67$1%8/

൴O൴��.hdh.d(.0(&(�൴OoHV൴��6göh7/hd(ù0(�N|\�PDKDOOHV൴�� ��� F൴OW�
���� D൴OH� VÕUD� QR�� �� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 6h/(<0$1� *h/(=�� 0867$)$� 2÷OX� 'h5'$1(
GHQ� ROPD�� ����������� GR÷XPOX�

$17$/<$�൴O൴��.25.87(/ø� ൴OoHV൴��d8.85&$�N|\�PDKDOOHV൴����� F൴OW�� �
D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�.DUDJ�PU�N�0DK��$WD�6N��1R����øo
.DSÕ�1R��)DW൴K��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 7$+6ø1� $/%$<5$.�� 6h/(<0$1� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

75$%=21� ൴O൴��'(51(.3$=$5,� ൴OoHV൴�� d$<,5%$ù,� N|\�PDKDOOHV൴�� ��
F൴OW�����D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�7ø5$1$��$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d 7$5ø+ø � ����
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68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 72/*$� .$=$1�� 086$� 2÷OX� +$99$
GHQ� ROPD�� ����������� GR÷XPOX�

$)<21.$5$+ø6$5�൴O൴��%$ù0$.d,�൴OoHV൴��%$/$�N|\�PDKDOOHV൴����F൴OW�
��� D൴OH� VÕUD� QR�� ���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 7ø5$1$� �$51$987/8.
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø��� ���� 785*87� .(3(=�� 6$/ø+� 2÷OX� +$9ø/
GHQ� ROPD�� ����������� GR÷XPOX�� 25'8� ൴O൴�

8/8%(<�൴OoHV൴��'85$.�N|\�PDKDOOHV൴�����F൴OW�����D൴OH� VÕUD�QR������ VÕUD
QR
GD�Q�IXVD�ND\ÕWOÕ�(/%$6$1��$51$987/8.�&80+85ø<(7ø�൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������<$.83�$56/$1��$+0(7�2÷OX� 68'ø<(
GHQ� ROPD�� ����������� GR÷XPOX�� 6ø9$6� ൴O൴�

0(5.(=�൴OoHV൴��+$/ø/�5,)$7�3$ù$�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD
QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�h6.h3��0$.('21<$�&80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������
ùh3+(/ø�������<$.83�ù$+ø1��$+0(7�2÷OX�0('ø+$
GHQ� ROPD�� ����������� GR÷XPOX�� 75$%=21

൴O൴��6h50(1(�൴OoHV൴��3(7(./ø�N|\�PDKDOOHV൴����� F൴OW�� �� D൴OH� VÕUD� QR�� ��
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� (/%$6$1� �$51$987/8.� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ������

6258ù7850$�(95$.,�ø1&(/(1'ø��
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